i) Tk& rmLe COWS+¢W+ o-f' o CEr {'m"n reachon
1S k= 6.0 ¥ 10_2' m's' TF fthe reac Fon
loejaw with a substance of concentration

0.20 M, dettrmine fle substances half life.

Z) For o certain reaction the achvahin
Cnefjﬂ s 675 Kj/moll ard the &/Lm7&

fin enf/'a//’j IS =650 KTjmot. Find
the activation €n67J 0# the w
reaction,

3> Write +he ecluz‘ll‘/)rium constant :

HA (ng) + 6B (> = 5C (n)+ 16D (3



Lf) Determine Yhe intermediatels) in the
ﬁo”owinj reacHon M@CL\AMSN:

A+ B — (
c+0—FE+F
Dr*rF —>Ar+rG

B+2D = E +G

5) \/\/ha-" 'S ‘ﬂ\«& WolCLn’ar;{‘j 0‘0 the ‘Qllow;y?/
elemanhcfj reaction €

A+rA+rB —C

é) GIVM the rate of 'Gof‘ﬂfm,'[’l‘oh O‘C CZHSOH
s 0.3 M/sl determine the pate of
Cons wm})Hov\ o f Cb Hlloé :

Colla O e — 2¢ H 0H + 2C0, o




7)

Radicactive *"P. has « hal £ life  of
IH years, ASSuminJ it o(sz accordin
fo 15 order kinetics, determme
how long 11 tTakes for 2076 of the
s+arh‘7/ amount 7o de,czc],

2 moles of H,0, are /olch o
a FL container and  the é//owfry/
reactton /Draccwls with a rate
tonstant of 2.1 x)0 s What
s the concentrution of H, 0,
235 minntes after the reachon {;:7,}\5?

1H,0, ) —> 1H,0 (D)+ 0,9



C{) Given :

Av 2B = ¢ K, = 6.1x/0”

1

/

3X+5Y = 22 K%-;?_,%x/o‘
What s Ke‘[ JUR

BA+6B+2LZE & 3¢ +3x 5y 7

10) Find KP of +the Fo//owi'y reae Hoir
3NM K= 1.1 x/o* at 14, 2°C :

Ho @+ CHy g) = (08> + 3H, >



H) Credit ¢ wlexas, edu

Given :

Triel [A] [B] Reate
! 0.l M 0.AM | ixio M/
v) o M| 0.2M | 1y M

3 | o3 M | 0 M| 3xi5"Mm/

Detecmine *

a) Order with reSfecf’ ko A

L) Ocder with resrcdc (SN
c) R,a'!'@ COMS‘FMWL



’Z) A Jrurl« of t‘i’i Vs, time jcmmjres
o lintar Plo’r GO‘( Hee reaction X =Y.
“Dc{tfm‘u\e_ ‘he AZ\CPereme\ rate law
of {’ke veaction.

'3) Ca\mlah, the eflul\{l;r;um comeﬁm%aks

ot Hr),) I;} and HIL at 700 K

£ the  jnikel concentrations afe:

[Hz_lor O.100 M ) [T,;l = 0.)L00M

Hy @+ I, ) = 2HE @ K, =570



H) A certain veacton has an activation
enevj 0-@ l‘"3. 'é‘; KT/mol .
How much faster il the reaction
Fm(,ceaQ et {oo Kelvin than ot HIT Kdvih?
(Round to neacest hele number),

]5) Devise a mecMmSM for  dhe GD“W’”?,

overall  reackion 3wux Pts Q)C’Dermmtw‘l‘h\

vave law 1|9 R = kY_NO;}

NO,L 63) + (0O CJ) —> NO Cj) + (/07/633




/E) (Fiven [H{} =0.05 M [T, )=0.15M,
and [HI—X = 0.4 N\) Vol/\,fol'\ direcHaon

will  dhe ;b“ewﬂ'j reac How ?roceei?

\’\L(y + T, (4) = JHT (33 \éc,: 510

17) For ’HA.Q, veacHoie ot eluilt‘kriumi
La O, () & (Cal 6) + (O, ()

a) WLL#."’ ka/)}:ens b [002,-] wLem, Co.(/o3 is aJa[Co(P

b) whet luffenﬁ fo the amount of Ca €Oy when
some COZ 633 t's V\emovw(,?



'Z) For -ﬂw/ (‘ea.o)"fdh at ezui/:‘ér/‘um

in  a sealed  contarne, :
N, @) + 3H, o) = 2NH, o)

Wlﬁatx direction wifl e M(,kph
shift f Phe volume of Yhe

Container o(%re,a?c S ?

}ﬂ Cor ooder b Maxingize ‘jieli
D‘p i)roA‘*C“—-S) woulok qu_

I‘P\C(‘ea.SQ oV Aecmaﬁe 'HAL {-eMTera’rura

0(: the Lo(\owlk.g/ rXmn Q‘{‘ etluf[(br{um?

- "= 57.2 kT
NL07 ()) — 7«[\/01 {73 AH Z



